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A PR

KGR K A FNAAE

K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
k| 19.00 211 26.6| 27.7| 27.7| 24.6| 21.2| 16.8| 14.9 9.2 9.6| 15.5| 27.7
KR c) e/ 113 14.3| 17.6| 22.1| 22.6] 20.8] 14.9| 13.0 7.4 5.1 6.2 9.6 5.1
Sy | 1503 18.1| 21.0| 25.3] 25.2| 22.8 17.9| 14.7 9.6 7.2 8.0| 12.3| 16.4
BR 21 100 17 57 17 100 15 5.3 4.0 1.6 3.1 19 100
il (%) 2/ 3.7 5.2 3.6 3.9 3.0 2.5 1.3 0.9 1.0 0.9 1.1 1.6 0.9
F-H) 6.8 12 7.4 9.6 5.4 9.5 3.4 1.9 1.8 1.2 1.5 3.7 5.4
k| 7.47| 7.46| 8.06| 7.85| 7.65| 7.53| 7.58] 7.72| 7.6 7.67| 7.78| 7.83| 8.06
p Hf& /AN 7100 7.200 7.32) 7.23| 7.28| 7.09| 7.38| 7.42| 7.44| 7.50| 7.56| 7.37| 7.09
Sy | 7039 7.37| 7.49|  7.47| 7.50| 7.42| 7.46| 7.55| 7.56| 7.60| 7.70| 7.57| 7.51
BR 13 16 11 18 15 20 12 9 8 4 5 12 20
i (%) Bl 4 5 4 6 5 5 3 4 3 3 3 4 3
F-H) 6 7 6 7 6 7 5 5 4 3 4 6 6
S Gl BR 8.4| 22.3 9.5 21.4| 14.1| 20.7| 10.0 7.0 4.3 2.1 3.8 10.6] 22.3
B U g B (mg/L) e/ 3.0 3.9 3.0 3.8 3.0 2.7 2.0 1.9 1.4 1.4 1.7 2.2 1.4
FH) 4.7 6.4 5.5 6.5 4.8 5.5 3.3 2.8 2.3 1.7 2.2 3.8 4.1
i (ST BR 1.6 1.5 1.8 1.6 1.4 1.9 0.8 0.7 0.6 0.8 0.8 1.1 1.9
(TOoC) ol e/ 2 0.9 1.1 1.1 1.0 0.8 0.7 0.7 0.6 0.5 0.5 0.6 0.8 0.5
FH) 1.2 1.2 1.4 1.2 1.0 1.1 0.8 0.6 0.6 0.6 0.7 0.9 0.9
k| 108 10.4 9.7 11.3 9.0 9.4 9.5/ 10.9| 10.6| 13.2| 13.8| 14.3| 14.3
e A A (mg/L) e/ 6.6 5.6 5.3 3.8 5.0 2.3 5.3 7.9 8.0 9.0/ 10.6 5.4 2.3
F-H) 8.6 8.3 8.3 9.0 7.8 6.9 7.6 9.6 9.7| 11.1| 12.2| 115 9.2
N R 3 4 22 36 2 1 <1 1 <1 3 5 6 36
i:zi»%%*»z g/l | Fh 1 2 | al al al al al al o« 4 ol <
F-H) 2 3 8 15 <1 <1 <1 <1 <1 1 4 4 3
BR 2 5 10 5 3 6 5 1 2 1 2 3 10
TxAAI (ng/L) Bl 1 2 2 2 2 2 <1 <1 <1 <1 <1 1 <1
F-H) 2 3 6 3 2 4 1 <1 1 <1 1 2 2
| 375 40.9| 43.2| 45.7| 44.1| 42.5| 42.5| 43.9| 42.1| 42.4| 42.5| 43.9| 45.7
BTk (mg/L) e/ 318 29.1| 27.9] 28.1| 29.5| 19.7| 34.2| 35.6| 38.9] 39.9| 39.4| 32.9| 19.7
Sty | 35.6| 35.8|  37.5| 40.3| 40.9| 37.5| 39.3| 41.8] 41.0| 41.3| 41.0| 39.8] 39.3
BR 12 18 18 15 14 14 7 5 3 2 2 6 18
FilEWE (mg/L) B/l 2 10 6 7 6 5 3 2 2 <1 1 3 <1
F-H) 8 12 13 10 8 10 6 3 2 1 2 4 7
BR 3.7 3.3 4.1 3.8 2.6 5.2 2.1 1.9 1.5 1.9 1.9 2.5 5.2
COD (mg/L) e/ 2.0 2.5 2.1 1.8 1.8 1.9 1.7 1.1 1.0 1.1 1.2 1.5 1.0
F-H) 2.6 2.8 3.0 2.8 2.2 3.0 1.8 1.5 1.3 1.5 1.6 2.1 2.2
BR 165 166 168 182 170 170 171 180 180 191 190 198 198
ERIRER (uS/em) | fxe/IN 140 131 112 111 121 85 131 151 161 176 175 145 85
F-H) 158 152 152 160 159 150 158 173 174 182 186 180 165

KGR IRFIK

EZTIVIS A 4 5 6 7 8 9 10 11 12 1 2 3 AR
| 191 216 27.2| 28.2| 27.4| 24.9| 21.5| 17.1| 15.1 9.8 9.4| 15.5| 28.2
KR c) /AN 12,00 14.5) 17.9| 22.4| 22.9] 21.1| 15.3| 13.5 7.7 5.6 6.6 9.8 5.6
Sy | 15.8|  18.6| 21.4| 25.7| 25.5| 23.2| 18.2| 15.0 9.9 7.5 8.2| 12.6| 16.8
k| 7.42| 7.47| 7.60| 7.33| 7.19| 7.12| 7.50| 7.54| 7.50| 7.44| 7.50| 7.38] 7.60
p Hf& /N 7.05| 6.94| 6.96| 6.84| 6.84| 6.79| 6.88| 7.14| 7.23| 7.31| 7.26| 7.0l 6.79
Sy |oo7.21| 7.21| 7.200 7.07| 7.05| 7.02| 7.25| 7.40| 7.38| 7.38| 7.38 7.27| 7.24
BR 172 174 189 210 182 180 175 182 183 196 198 205 210
ERIRER (uS/em) | fxe/IN 155 143 130 147 158 126 152 168 169 181 186 167 126
F-H) 166 161 163 182 172 163 165 177 178 187 194 191 175
BR 1.0 1.2 2.1 2.6 2.2 2.1 1.2 1.0 0.6 0.4 0.6 1.0 2.6
PR (mg/L) e/ 0.3 0.5 0.8 0.8 0.8 0.6 0.4 0.4 0.3 0.2 0.2 0.4 0.2
F-H) 0.6 0.8 1.0 1.2 1.1 1.2 0.6 0.5 0.4 0.4 0.4 0.5 0.7
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KFEARY TRk BRIAEE

VTN H 4 5 6 7 8 9 10 11 12 1 2 3 S|
A 193] 21.6| 27.2| 28.5| 27.6| 25.3| 21.8] 17.3] 15.3 9.4 9.9 15.7| 28.5
KR (C) BN 1201 1409 1801 22.7| 23.4 21.4| 15.4| 13.5 8.2 6.2 7.0 10.0 6.2
Ery | 16.0|  18.9| 21.8| 26.0| 25.8 23.6| 18.6| 15.2| 10.3 7.9 8.6| 12.9| 17.1
IETN 0.2 0.1] <0.1] <0.1| <0.1| <0.1| <0.1 0.1 0.1| <0.1| <0.1| <o.1 0.2
tiali s (s BN <001 <01 <01 <o.1| <o.1| <0.1| <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <o.1|  <0.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <0.1| <o0.1| <0.1
BAR| 7.48] 7.45| 7.53| 7.45| 7.27| 7.28| 7.70| 7.52| 7.58| 7.49| 7.49| 7.45| 7.70
p HAE AN 713 6.97| 7.02| 6.94| 6.96| 6.78 7.07| 7.23| 7.34| 7.28] 7.31| 7.10] 6.78
SEry | 7.30(  7.30|  7.31) 7.20| 7.18| 7.15| 7.38| 7.41| 7.45| 7.44| 7.42| 7.34] 7.32
i ) ek 1.9 2.0 1.9 1.3 1.5 1.8 1.6 1.6 1.4 1.1 1.3 1.5 2.0
g%f?%ﬁ%;g?/ (mg/L) B2 N 1.0 1.3 0.7 0.5 0.8 0.8 0.8 0.9 0.7 0.7 0.6 0.8 0.5
) 1.5 1.7 1.4 0.9 1.1 1.2 1.1 1.2 1.0 0.9 0.9 1.0 1.2
) IS FN 0.7 0.9 0.8 0.5 0.6 0.6 0.6 0.5 0.5 0.5 0.5 0.5 0.9
ﬁﬁﬂg é?ﬁg;ﬁﬁ (mg/L) BN 0.5 0.7 0.6| <0.3 0.4 0.5 0.3 0.5 0.4 0.4 0.3 0.4] <0.3
) 0.6 0.8 0.7 0.4 0.5 0.5 0.5 0.5 0.4 0.4 0.4 0.4 0.5
RA| 34.6] 36.3] 36.8 39.0| 32.6| 357 38.6| 40.6| 39.9| 39.3] 40.0| 40.2| 40.6
BTk B (mg/L) /AN 265 210l 211 22.3] 22.0| 14.9| 25.1| 31.8] 35.1| 37.5| 32.7| 26.6] 14.9
SEry | 31.5| 31.3| 31.1| 32.3] 29.7| 28.5| 33.1| 36.0] 38.0] 382 37.3] 36.3] 33.6
IS FN 0.2 0.3 0.5 0.4 0.4 0.5 0.3 0.3 0.3 0.2 0.2 0.3 0.5
TR TR (mg/L) AN <001 0.1 0.2 0.1 0.1 0.2 0.1 0.2 0.2 0.2 0.1 0.1| <0.1
) 0.1 0.2 0.3 0.2 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2

KRS WAk

5K A 4 5 6 7 8 9 10 11 12 1 2 3 AR
BAR| 19.2] 22.8] 27.5| 28.9| 28.2| 25.7| 22.3| 17.3] 15.3 9.7 10.1| 16.0] 28.9
KR (C) BN 121 15.4| 185 23.4| 23.8| 21.8| 15.9| 13.9 8.4 6.5 7.2 10.2 6.5
Ery | 15.9|  19.0| 21.9| 26.3] 26.2| 24.0| 19.0| 15.4| 10.5 8.2 8.8| 13.0| 17.4
BAR| <01 <o.1| <o.1| <o.1| <o.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
tiali s (s BN <001 <01 <o.1| <o.1| <o.1| <0.1 <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <0.1| <o.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <o.1| <o.1| <0.1
&K| 71.64| 7.67| 7.77| 7.66| 7.57| 7.56| 7.70| 7.70| 7.65| 7.62| 7.61| 7.62| 7.77
p HAE BN 7.38] 7.30| 7.28| 7.26| 7.35| 7.15| 7.40| 7.47| 7.44| 7.49| 7.51| 7.35| 7.15
SEry | 7.52|  7.54| 7.57| 7.54| 7.49| 7.46| 7.57| 7.62| 7.60| 7.58| 7.57| 7.54| 7.55
i ) IS FN 1.6 1.8 1.7 1.2 1.3 1.5 1.4 1.4 1.3 1.0 1.2 1.4 1.8
g%f?%ﬁ%;g?/ (mg/L) B/ 0.9 1.3 0.7 0.5 0.7 0.7 0.7 0.9 0.7 0.7 0.6 0.7 0.5
) 1.3 1.5 1.2 0.8 1.0 1.0 1.0 1.1 0.9 0.9 0.8 0.9 1.0
) ek 0.7 0.9 0.7 0.4 0.6 0.6 0.6 0.5 0.5 0.6 0.5 0.5 0.9
ﬁﬁﬂg é?ﬁg;ﬁﬁ (mg/L) BN 0.5 0.7 0.6| <0.3| <0.3 0.5 0.4 0.5 0.4 0.4 0.4 0.4 <0.3
) 0.6 0.8 0.7 0.4 0.4 0.6 0.5 0.5 0.4 0.4 0.4 0.4 0.5
o IS FN 2 3 9 3 <1 <1 <1 <1 <1 3 2 2 9
22:?:?;’” IEVE gy | o a | oal al oal oal al «al oal o« of ] o«
) 1 2 4 1 <1 <1 <1 <1 <1 <1 2 1 <1
ek 2 <1 <1 <1 <1 <1 <1 <1 1 <1 <1 <1 2
VAR (ng/L) BN <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
bS] 1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
ek 0.5 0.9 0.6 0.8 0.6 0.7 0.6 0.5 0.5 0.5 0.5 0.6 0.9
TR TR (mg/L) E52N 0.1 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.1
) 0.4 0.5 0.5 0.6 0.5 0.5 0.5 0.4 0.5 0.4 0.4 0.5 0.5
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KFEARYS  AKPFEK RN

ik H 4 5 6 7 8 9 10 11 12 1 2 3 £EF]

Al 18.8] 21,0 25.7| 27.6| 27.0| 24.7| 21.9] 17.2| 15.3] 9.8 9.9/ 15.4| 27.6

S (C) Bl 12.4) 15.2| 18.6] 23.1| 23.6| 21.9] 16.0] 14.3| 88| 6.6/ 7.3 9.7 6.6
Ry | 16.6|  18.4| 21.1| 25.6| 25.6| 23.5| 19.0| 15.5| 11.0| 8.4 8.8 12.8] 17.1

Al <0.1| <o0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1

B () BoN|o<0.1] <o0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
R <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1

Al 763 7.72| 7.79] 7.73| 7.62| 7.60| 7.70| 7.75| 7.67| 7.65| 7.65| 7.67| 7.79

p HfE BN | 7.42| 7.32| 7.49] 7.36| 7.39| 7.25| 7.30| 7.51| 7.55| 7.54| 7.54| 7.42| 7.25
SR | 7.54|  7.57| 7.61| 7.57| 7.54| 7.50| 7.57| 7.66| 7.62| 7.60| 7.61| 7.59| 7.58

TN 0 0 0 0 0 0 0 0 0 0 0 0 0

L () SN 0 0 0 0 0 0 0 0 0 0 0 0 0
Fy 0 0 0 0 0 0 0 0 0 0 0 0 0

i ) TN 1.5 1.6 1.7 1.1 1.1 1.3 1.2 1.4 1.2 1.0 1.1 1.3 1.7
g%ﬁ?%ig%éf’ (mg/L) SN 0.9 1.2 0.9 o5 o7 07 07 09 05 06 0.6 06 05
Fy 1.2 1.4 1.1 0.8/ 0.9 0.9 0.9 1.o| 0.9 o8 07 0.8 1.0

o TN 0.7 0.8/ 0.7 05 0.6 07 06 0.5 05 05 0.5 05 0.8
ﬁﬁf*gé?ﬁgfﬁ (mg/L) N 0.5 0.7 0.6/ <0.3 0.5 0.4 0.4 0.5 0.4 0.4 0.3 0.4] <0.3
Fy 0.6/ 0.7 0.7 0.4/ 0.5/ 0.5 0.4 0.5 0.4 0.4 0.4 0.4 0.5

Al 1409 16.3] 17.2] 18.1| 17.0| 15.5| 12.9| 15.0| 13.9| 15.2| 17.3| 18.4| 18.4

A A (mg/L) B |o11.6) 1109 11.4] 12.8] 10.9]  9.3|  9.6| 11.3| 11.9] 12.5| 15.2| 12.0] 9.3
R | 13.1| 13.6| 13.4| 15.9] 12.6| 12.4| 10.9] 12.9| 12.9| 14.0] 16.3| 16.3| 13.7

B BEARL | BERL| BERL | BERL | B | BEa L | BEAL | BEAL| BEAL| BEAL| BERL| BERL -
TN 1 1 1 1 1 1 1 1 1 1 1 1 1

R5E (TON) 52N 1 1 1 1 1 1 1 1 1 1 1 1 1
Fy 1 1 1 1 1 1 1 1 1 1 1 1 1

173 BERU | BEARL | Bl U | WAL | RERL | BEAL | BEe U | WEAL | BEAL | BEl L | BEaL | BEARL -
o TN 1 4 6 3 A1 <1 A1 <1 A1 2 2 3 6

27}?_(7/;’” L R/ R =N a | oal al oal oal al «al oal o« | al o«
A% <1 2 2 1 A1 <1 A1 <1 A1 <1 2 1 A1

ISON 2 <1 A1 <1 A1 <1 A1 <1 1 <1 A1 <1 2

T AAIY (ng/L) N A1 <1 A1 <1 A1 <1 A1 <1 A1 <1 A1 <1 A1
A% 1 <1 A1 <1 A1 <1 A1 <1 A1 <1 A1 <1 A1

TN 0.8 1.0 1.0 1.1 1.1 1.o| 0.9 o8 o7 07 0.6 0.8 1.1

FRE R (mg/L) SN 0.6 0.7 .ol 09 09 09 07 07 06 06 05 0.6 0.5
Fy 0.7 0.9 1.0 1.0 1.0 .ol 0.8 o7 0.7 06 06 07 0.8

192




165 [1°0> 10> 170> 10> 170> 10> 170> 10> 170> 170> 170> 10> 1°0> 10> 1°0> (F) | 1e5r
055 | 1> B D B D B D B D > D 5 D > D Gi) 5| 05
6V |- - - 243 243 243 253 243 253 243 243 253 243 253 NG 0| 6V
8V |- - - 243 253 243 253 243 253 243 243 253 243 253 NG | 8V
LY |78 7L ve°L 79°L 67 L av°L €571 ¥S°L €9°L ve°L 1671 1571 19°L 79°L 95°L 29°L HH | v
9V |70 €7°0> 8°0 [0 70 [0 70 G0 70 G0 70 €7°0> 9°0 8°0 9°0 (1/8w) (@ (OOL) ¥MMMHL) s s |ovsy
S |S000 0> 5000 0> G000 0> - - - - - - - - - - G000 0> - (1/8uw) WA — [ T L |s15F
¥Pf |200 0> 200 0> 200 0> - - - - - - - - - - 200 0> - (1/3w) IR AT A e S [V F
eV | 1> D) 2 I3 2 D) > D) D » D I3 D T > (1/8u) A — LA LA 4T ehE
ohE | > D) > D) > D) > D) D B D D) D B > (1/8u) AT YT LT
17 |20 0> 20 0> 20 °0> - - - - - - - - - - 20 0> - (1/3w) IR g A e S5 | v
ovsy |121 €01 LVT qzl 11 L21 4 qzl 611 PIT gel LT L01 €01 SIT (1/3w) i EE X635 | 0V
665 |V €S 0°97 G 69 G 69 €89 799 976G 176G v °8p 809 1769 G 69 0°9F T°LY 8 "6 (1/80)  GIMl) &7 4 A%s > T LAE|6ESE
gesr |9 ¥1 1731 28l 8l G°LI [ vel Gel 1731 ¢el 921 6°L1 z€l 0°ST 07T (1/3w) AN S A By [ sesr
LESF [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/3uw) GG AV D LW AL~ 2| Le5E
9e5y [8 01 8°0T 8°0T - - - E - E - E - - 8°0T - (1/3uw) HEWDX0WT 4 (] £]9e5
Se¥f |10 70> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 20 QW M| seFf
vesy |10 0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10 °0> (1/3uw) AV 0 L0 HE | vedt
€657 [S0 0 €0°0 80°0 90 °0 S0°0 S0°0 S0°0 80 0 €0°0 S0°0 90°0 500 S0°0 70°0 S0°0 (1/5w) HEND LW T =S Lg%
2€5f |10 0> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 2y 0 O3 g ey
1£5¢ [200 0> 200 0> £00 "0 - 200 0> - E 200 0> - - £00 0 - - €000 - (1/3w) A AL L ack|esy
0£5F (9000 "0 2000 °0 2100 °0 - 0100 "0 - E 9000 °0 7000 "0 G000 "0 2100 0 0100 "0 2000 0 2000 "0 - (1/3w) TANE RO L|0g
62 [ L7000 8100 "0 6900 0 - 6100 0 - E 0500 °0 8£00 "0 7900 0 6500 "0 8100 "0 7900 "0 G900 0 - (1/3w) A K ¥ 004 A0 L1685
8z |700 "0 100 0> 010°0 - 100 0> - E 200 0 E - £00 "0 - - 0100 - (1/3w) o o 4 (1 [sedr
L2 |€10°0 £900 °0 610°0 - 6900 "0 - E 2€10°0 6600 "0 0L10°0 G910 °0 £900 °0 LL10°0 6100 - (1/3w) A& Lo (i B Lo
92%f |100 0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3uw) |95
e |7£00 0 2200 "0 6700 "0 - 7£00 "0 - E 200 "0 0£00 "0 0700 "0 6700 "0 £200 "0 9200 "0 2200 0 - (1/8uw) A& 400 4x0 L4
vZr €00 0 100 0> 900 °0 - 100 0> - E 200 0 E - 700 °0 - - 900 "0 - (1/3w) WM o o 4 2 vesr
€257 9700 0 9000 °0 010°0 - 9000 "0 - E $£00 0 1200 "0 1900 0 G700 "0 2100 °0 G800 0 0100 - (1/3m) TANK O O 4 |eei
22 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/8uw) WH o o 4 |2
1257 |80 °0 90 0> 210 - 90 °0> - E 01°0 E - 01°0 - - 210 - (1/3uw) P HT| 105¢
025 {1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) N [T
615 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Toog iy |61%
815 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Ton gLy L[
LI5F |1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) A& oo gL
. . . . AALTOR 4L T-L AL
915 {3000 0> 2000 0> 2000 0> - - - - - - - - - - 2000 "0> - (1/8uw) b%w;$Hu,u a,,\,,\N.TKw,, 915
SI5F (00 0> G00 0> S00 0> - - - - - - - - - - G500 0> - (1/8uw) AR EATT|s15F
vI5F [1000 0> 1000 0> 1000 0> - - - - - - - - - - 1000 0> - (1/3uw) S AV B [ V15
€157 [S0 0 G0°0 S0°0 - - - - - - - - - - G0 0 - (11/8w) G2y O QW H Lz | e15F
215 [90 0 90 0 90°0 - - - - - - - - - - 90 0 - (11/8w) G2 A0 OWE < L2115
1157 |02 °T 07T 07T - - - - - E - E - - 07T - (1/3uw) S B QUM R0 3 52 SR | 1y
015 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/89) A LANVEROW A S GV~ L4015
65 |700 0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3uw) SRR G| 657
8¢ [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GHEAT o 2 W | 85
L¥f |100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GG AV D 20HWH A L3¢
9% 100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G20 0| 9%
S¥ |100 0> 100 "0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G2 A DX 0W A1 2| 5%
¥¥ [S0000 0> [S0000 0>  [S0000 0> |- - - - - - - - - - G0000 "0> - (1/3uw) 2 O QTN v
€5 €000 0> €000 0> £000 "0> - - - E - E - E - - €000 0> - (1/3uw) HENDO LW T LS ] e
o¥ |- - - ) ¥ ) H¥ ) H¥ ) ) ¥ ) H¥ ) Y| e
15 o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/)) B —| 15
8°0 9°0 1 9 9°0 L0 9°0 L0 8°0 0T 0°T 11 01 8°0 L0 (1/3w) B BN
6°91 0°8 0°92 [ 0°8 9°8 L°TT 8°GT 881 0°7¢ €7 0°9z 1761 G 8T 8°GT (D.) WY
291 67 0°0€ 6 GG 67 9L 0°6T 761 0°92 0°0¢ 0°8¢ 9°0g 9°€T S°91 [} s
- - - H iy H iy & iy iy H iy B iy A
- - - 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 00:6 5N
Gk N X3y HIHE H9H?T HOTHT EHEE HYTHTT HITHOT HZTH6 H8HS HITHL HETH9 HITHS HITHY EERZE
EdEngditacs NCEE B S

WXE 4

193



165 [1°0> 10> 170> 10> 170> 10> 170> 10> 170> 170> 170> 10> 1°0> 10> 1°0> (F) | 1e5r
055 | 1> B D B D B D B D > D 5 D > D Gi) 5| 05
6V |- - - NG NI NG ez 5 NG NI NG NG NI NG NI NG O | 6V
8V |- - - 243 253 243 253 243 253 243 243 253 243 253 NG | 8V
LYY |69 7L [ 89°L GG°L 1672 19°L 95°L 99°L oL 9571 G9°L 89°L 89°L 79°L 66 °L HH | v
9V S0 €0 L0 [0 70 [0 70 G0 70 G0 G0 €0 L0 L0 9°0 (1/8w) (@ (OOL) ¥MMMHL) s s |ovsy
S |S000 0> 5000 0> G000 0> - - - - - - - - - - G000 0> - (1/8uw) WA — [ T L |s15F
¥Pf |200 0> 200 0> 200 0> - - - - - - - - - - 200 0> - (1/3w) IR AT A e S [V F
eV | 1> D) 3 I3 2 D) > D) D » D I3 T 3 > (1/8u) A — LA LA 4T ehE
ohE | > D) > D) > D) > D) D B D D) D B > (1/8u) AT YT LT
17 |20 0> 20 0> 20 °0> - - - - - - - - - - 20 0> - (1/3w) IR g A e S5 | v
ovsy |121 601 gel 121 [ 921 43 qzl 021 611 [ ael VIt 60T [4a (1/3w) i EE X635 | 0V
665 |V €S 9797 0°69 065 089 299 [ 67 208 P& 7 €S [ 9°9p 809 9°LF (1/80)  GIMl) &7 4 A%s > T LAE|6ESE
gesy [V v1 011 8°L1 8 L1 [ 071 [ ¢el 0°11 8¢l vl VoL vl R €71 (1/3w) AN S A By [ sesr
LESF [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/3uw) GG AV D LW AL~ 2| Le5E
9ef |2 11 [ [ - - - E - E - E - - [ - (1/3uw) HEWDX0WT 4 (] £]9e5
Se¥f |10 70> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 20 QW M| seFf
vesy |10 0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10 °0> (1/3uw) AV 0 L0 HE | vedt
€€f |G0 0 70°0 90°0 - 70°0 - - 90 °0 - - 90°0 - - G0 0 - (1/3uw) SN DX O0WT =3 L]eeSy
2€5f |10 0> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 2y 0 O3 g ey
165¢ [700 "0 200 0 G000 - £00 "0 - E 200 0 - - 500 0 - - 700 0 - (1/3w) A AL L ack|esy
0£5F (8000 0 7000 0 2100 °0 - 2100 °0 - E 0100 "0 - - 8000 0 - - 7000 0 - (1/3w) TANE RO L|0g
62 6900 0 6200 "0 €600 "0 - 6200 0 - E 7200 0 E - 0800 "0 - - €600 "0 - (1/3w) A K ¥ 004 A0 L1685
825 |S00 "0 100 0> 600 "0 - 100 0> - E 700 °0 E - 800 "0 - - 600 "0 - (1/3w) o o 4 (1 [sedr
L2 |220 0 8600 "0 820 "0 - 8600 "0 - E L120°0 E - 120°0 - - 820 0 - (1/3w) A& Lo (i B Lo
92%f |100 0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3uw) |95
<2 |0500 "0 7700 0 0900 "0 - 7700 "0 - E 0900 "0 - - 2500 "0 - - 9700 "0 - (1/8uw) A& 400 4x0 L4
Ve 700 0 1000 800 "0 - 100 °0 - E 200 0 E - 800 "0 - - 900 "0 - (1/3w) WM o o 4 2 vesr
€25 6800 0 €100 °0 710°0 - €100 0 - E €L00 0 - - £10°0 - - $10°0 - (1/3w) Ak T T 4 |egs
22 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/8uw) WH o o 4 |2
125 |L0°0 90 0> 01°0 - 90 °0> - E 60 0 E - 01°0 - - 60 0 - (1/3uw) P HT| 105¢
025 {1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) N [T
615 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Toog iy |61%
815 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Ton gLy L[
LI5F |1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) A& oo gL
. . . . AALTOR 4L T-L AL
915 {3000 0> 2000 0> 2000 0> - - - - - - - - - - 2000 "0> - (1/8uw) b%w;$Hu,u a,,\,,\N.TKw,, 915
SI5F (00 0> G00 0> S00 0> - - - - - - - - - - G500 0> - (1/8uw) AR EATT|s15F
vI5F [1000 0> 1000 0> 1000 0> - - - - - - - - - - 1000 0> - (1/3uw) S AV B [ V15
€157 [S0 0 G0°0 S0°0 - - - - - - - - - - G0 0 - (11/8w) G2y O QW H Lz | e15F
21y [L0°0 L0°0 L0°0 - - - - - - - - - - L0°0 - (11/8w) G2 A0 OWE < L2115
TI57 |62 T [ €21 - - - - - E - E - - [ - (1/3uw) S B QUM R0 3 52 SR | 1y
015 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/89) A LANVEROW A S GV~ L4015
65 |700 0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3uw) SRR G| 657
8¢ [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GHEAT o 2 W | 85
L¥f |100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GG AV D 20HWH A L3¢
9% 100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G20 0| 9%
S¥ |100 0> 100 "0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G2 A DX 0W A1 2| 5%
¥¥ [S0000 0> [S0000 0>  [S0000 0> |- - - - - - - - - - G0000 "0> - (1/3uw) 2 O QTN v
€5 €000 0> €000 0> £000 "0> - - - E - E - E - - €000 0> - (1/3uw) HENDO LW T LS ] e
o¥ |- - - ) ¥ ) H¥ ) H¥ ) ) ¥ ) H¥ ) Y| e
15 o 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/)) B —| 15
S0 70 8°0 S0 S0 S0 S0 S0 S0 S0 9°0 8°0 9°0 S0 (1/3w) B BN
0°L1 18 0°92 201 18 Z6 T°¢l 9°91 6°1¢ ER 0°9g 1767 681 [ (D.) WY
8°L1 €°G 028 0°01 0°8 €°G L°0T 0°9T 8°1¢ 795 0°2¢ L7628 9°0g 0°61 [} s
- - - & H iy H iy & iy iy H iy iy A
- - - 07:6 05:6 00:01 05:6 0£:6 00:01 00:01 0£:6 Sr:01 07:6 00:01 07:6 5N
Gk N X3y HIHE H9H?T HOTHT EHEE HYTHTT HITHOT HZTH6 H8HS HITHL HETH9 HITHS HITHY EERZE
izt AR TNCORIEN. NGRSk

[l At IS

194



165 [1°0> 10> 170> 10> 170> 10> 170> 10> 170> 170> 170> 10> 1°0> 10> 1°0> (F) | 1e5r
055 | 1> B D B D B D B D > D 5 D > D Gi) 5| 05
6V |- - - NG NI NG ez 5 NG NI NG NG NI NG NI NG O | 6V
8V |- - - 243 253 243 253 243 253 243 243 253 243 253 NG | 8V
L7 [09 7L 67 L 89°L GG°L €5°L 29°L 8G°L 19°L 67 °L 8G°L 79°L ¥9°L 89°L 29°L 8G°L HH | v
9V S0 €0 L0 [0 70 [0 70 G0 £°0 G0 G0 €0 9°0 L0 L0 (1/8w) (@ (OOL) ¥MMMHL) s s |ovsy
S |S000 0> 5000 0> G000 0> - - - - - - - - - - G000 0> - (1/8uw) WA — [ T L |s15F
¥Pf |200 0> 200 0> 200 0> - - - - - - - - - - 200 0> - (1/3w) IR AT A e S [V F
eV | 1> D) 2 I3 2 D) > D) D » D I3 D 3 > (1/8u) A — LA LA 4T ehE
ohE | > D) > D) > D) > D) D B D D) D B > (1/8u) AT YT LT
17 |20 0> 20 0> 20 °0> - - - - - - - - - - 20 0> - (1/3w) IR g A e S5 | v
ovsY [611 801 [ V51 [ qzl 43 071 VIT 611 [ [ 11 80T 80T (1/3w) i EE X635 | 0V
665 |0 €S A €769 €65 6°L9 9799 9769 GVS 9°6F geg PR [ [3L 609 v op (1/80)  GIMl) &7 4 A%s > T LAE|6ESE
8ey [€ ¥1 [ L7L1 9°L1 L7L1 6°¢l 071 g€l [ L2l 621 VoL L7721 A 6°€1 (1/3w) AN S A By [ sesr
LESF [100 "0> 100 0> 100 °0 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0 (1/3uw) GG AV D LW AL~ 2| Le5E
9e7 [0 °TT 0°TT 0°TT - - - E - E - E - - 0°TT - (1/3uw) HEWDX0WT 4 (] £]9e5
Se¥f |10 70> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 20 QW M| seFf
vesy |10 0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10 °0> (1/3uw) AV 0 L0 HE | vedt
€€f |G0 0 70°0 90°0 - 70°0 - - 90 °0 - - 90°0 - - G0 0 - (1/3uw) SN DX O0WT =3 L]eeSy
2€5f |10 0> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 2y 0 O3 g ey
165¢ [700 "0 200 0 G000 - 200 °0 - E €00 0 - - 500 0 - - 700 0 - (1/3w) A AL L ack|esy
0£5F [6000 0 7000 0 7100 °0 - 7100 °0 - E 2100 0 - - 9000 0 - - 7000 0 - (1/3w) TANE RO L|0g
62 [2200 0 2€00 "0 €600 "0 - 2€00 "0 - E LL00°0 E - 6800 "0 - - €600 "0 - (1/3w) A K ¥ 004 A0 L1685
825 [900 "0 100 0> 600 "0 - 100 0> - E 700 °0 E - 600 "0 - - 600 "0 - (1/3w) o o 4 (1 [sedr
L2 |€20 0 L010°0 0£0 "0 - L0100 - E 1620 °0 E - 0£0 "0 - - 820 0 - (1/3w) A& Lo (i B Lo
92%f |100 0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3uw) |95
e 3500 0 G700 "0 9900 "0 - L7000 - E 9900 "0 - - 6700 "0 - - G700 0 - (1/8uw) A& 400 4x0 L4
vZr €00 0 100 0> 200 °0 - 100 °0 - E 100 0> E - 200 °0 - - G000 - (1/3w) WM o o 4 2 vesr
€25 8600 0 7100 0 910°0 - 7100 "0 - E 9200 0 - - 910 0 - - $10°0 - (1/3w) Ak T T 4 |egs
22 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/8uw) WH o o 4 |2
125 |L0°0 90 0> 210 - 90 °0> - E 60 0 E - 210 - - 80 "0 - (1/3uw) P HT| 105¢
025 {1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) N [T
615 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Toog iy |61%
815 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Ton gLy L[
LI5F |1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) A& oo gL
. . . . AALTOR 4L T-L AL

915 {3000 0> 2000 0> 2000 0> - - - - - - - - - - 2000 "0> - (1/8uw) b%w;$Hu,u a,,\,,\N.TKw,, 915
SI5F (00 0> G00 0> S00 0> - - - - - - - - - - G500 0> - (1/8uw) AR EATT|s15F
vI5F [1000 0> 1000 0> 1000 0> - - - - - - - - - - 1000 0> - (1/3uw) S AV B [ V15
€157 [S0 0 G0°0 S0°0 - - - - - - - - - - G0 0 - (11/8w) G2y O QW H Lz | e15F
21y [L0°0 L0°0 L0°0 - - - - - - - - - - L0°0 - (11/8w) G2 A0 OWE < L2115
1157 |82 T 8% 1 871 - - - - - E - E - - 87 1 - (1/3uw) S B QUM R0 3 52 SR | 1y
015 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/89) A LANVEROW A S GV~ L4015
65 |700 0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3uw) SRR G| 657
8¢ [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GHEAT o 2 W | 85
L¥f |100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GG AV D 20HWH A L3¢
9% 100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G20 0| 9%
S¥ |100 0> 100 "0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G2 A DX 0W A1 2| 5%
¥¥ [S0000 0> [S0000 0>  [S0000 0> |- - - - - - - - - - G0000 "0> - (1/3uw) 2 O QTN v
€5 €000 0> €000 0> £000 "0> - - - E - E - E - - €000 0> - (1/3uw) HENDO LW T LS ] e
o¥ |- - - ) ¥ ) H¥ ) H¥ ) ) ¥ ) H¥ ) Y| e
15 o 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/)) B —| 15

S0 70 9°0 70 S0 S0 S0 70 S0 70 S0 9°0 9°0 S0 (1/3w) B BN

€Ll 78 €760 €01 78 9701 971 6°L1 0°¢g 172 €°5C LVe 0°61 PEd (D.) WY

878l gL [ 011 9721 gL 56 0°9T [ 1792 [ [ P44 8703 [} s

- - - & H iy H iy & iy iy H iy iy A

- - - 0£:01 00:11 00:11 07:01 00:11 00:11 00:11 0£:01 00:11 03:01 00:11 07:0T 5N

Gk N X3y HIHE H9H?T HOTHT EHEE HYTHTT HITHOT HZTH6 H8HS HITHL HETH9 HITHS HITHY EERZE

BOLPHBI SN SRS

195



165 [1°0> 10> 170> 10> 170> 10> 170> 10> 170> 170> 170> 10> 1°0> 10> 1°0> (F) | 1e5r
055 | 1> B D B D B D B D > D 5 D > D Gi) 5| 05
6V |- - - NG NI NG ez 5 NG NI NG NG NI NG NI NG O | 6V
8V |- - - 243 253 243 253 243 253 243 243 253 243 253 NG | 8V
LV [99 7L LV7L 9L°L 09°L 8G°L 19°L 29°L €L7L LV°L ¥9°L 89°L 9L°L VL'L [ 99°L HH | v
9V S0 €7°0> L0 [0 70 [0 70 G0 G0 G0 G0 €7°0> 9°0 L0 L0 (1/8w) (@ (OOL) ¥MMMHL) s s |ovsy
S |S000 0> 5000 0> G000 0> - - - - - - - - - - G000 0> - (1/8uw) WA — [ T L |s15F
¥Pf |200 0> 200 0> 200 0> - - - - - - - - - - 200 0> - (1/3w) IR AT A e S [V F
eV | 1> D) 3 I3 2 D) > D) D » D I3 T 3 > (1/8u) A — LA LA 4T ehE
ohE | > D) > D) > D) > D) D B D D) D B > (1/8u) AT YT LT
17 |20 0> 20 0> 20 °0> - - - - - - - - - - 20 0> - (1/3w) IR g A e S5 | v
oviy |€eT 601 VT 2el 121 L21 121 V51 11 121 [43 TrT L11 60T VIt (1/3w) i EE X635 | 0V
665 |€ €S 8 ¥ G 69 G 69 28 9799 776G €765 8 T L6V €°€9 1°89 VLY 971 76V (1/80)  GIMl) &7 4 A%s > T LAE|6ESE
gey |G VT €2l L7L1 LU 9°L1 8¢l 6°¢l g€l L7721 Lv1 [ 121 vl 7 VT 6°€1 (1/3w) AN S A By [ sesr
LESF [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/3uw) GG AV D LW AL~ 2| Le5E
9e5y [€ 11 €11 [ - - - E - E - E - - €11 - (1/3uw) HEWDX0WT 4 (] £]9e5
Se¥f |10 70> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 20 QW M| seFf
vesy |10 0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10 °0> (1/3uw) AV 0 L0 HE | vedt
€€f |90 0 G0°0 L0°0 - S0°0 - - L0°0 - - S0°0 - - G0 0 - (1/3uw) SN DX O0WT =3 L]eeSy
2€5f |10 0> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 2y 0 O3 g ey
165¢ [200 0 200 0> 700 °0 - 200 0> - E 200 0 - - £00 0 - - 700 0 - (1/3w) A AL L ack|esy
0£5F (8000 0 7000 0 2100 °0 - 2100 °0 - E 8000 "0 - - 2000 "0 - - 7000 0 - (1/3w) TANE RO L|0g
627 9900 0 8200 "0 6800 "0 - 8200 "0 - E £900 °0 E - 6800 "0 - - 1800 "0 - (1/3w) A K ¥ 004 A0 L1685
8z |700 "0 100 0> 200 °0 - 100 0> - E €00 0 E - 2000 - - L00°0 - (1/3w) o o 4 (1 [sedr
L2 |610 0 7600 0 6200 - 7600 "0 - E €810°0 E - 6200 - - 2200 - (1/3w) A& Lo (i B Lo
92%f |100 0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3uw) |95
e |8700 0 0700 "0 6500 "0 - €700 "0 - E 7500 0 - - G500 0 - - 0700 "0 - (1/8uw) A& 400 4x0 L4
Ve 700 0 1000 800 "0 - 100 °0 - E 200 0 E - 800 "0 - - 900 "0 - (1/3w) WM o o 4 2 vesr
€25 (9900 "0 1100 °0 010°0 - 1100 0 - E 7500 0 - - 010 0 - - 0100 - (1/3w) Ak T T 4 |egs
22 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/8uw) WH o o 4 |2
125 |L0°0 90 0> 01°0 - 90 °0> - E 60 0 E - 01°0 - - 60 0 - (1/3uw) P HT| 105¢
025 {1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) N [T
615 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Toog iy |61%
815 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Ton gLy L[
LI5F |1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) A& oo gL
. . . . AALTOR 4L T-L AL

915 {3000 0> 2000 0> 2000 0> - - - - - - - - - - 2000 "0> - (1/8uw) b%w;$Hu,u a,,\,,\N.TKw,, 915
SI5F (00 0> G00 0> S00 0> - - - - - - - - - - G500 0> - (1/8uw) AR EATT|s15F
vI5F [1000 0> 1000 0> 1000 0> - - - - - - - - - - 1000 0> - (1/3uw) S AV B [ V15
€157 [S0 0 G0°0 S0°0 - - - - - - - - - - G0 0 - (11/8w) G2y O QW H Lz | e15F
215 [80 0 80 "0 800 - - - - - - - - - - 80 0 - (11/8w) G2 A0 OWE < L2115
1157 |02 °T 07T 07T - - - - - E - E - - 07T - (1/3uw) S B QUM R0 3 52 SR | 1y
015 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/89) A LANVEROW A S GV~ L4015
65 |700 0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3uw) SRR G| 657
8¢ [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GHEAT o 2 W | 85
L¥f |100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GG AV D 20HWH A L3¢
9% 100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G20 0| 9%
S¥ |100 0> 100 "0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G2 A DX 0W A1 2| 5%
¥¥ [S0000 0> [S0000 0>  [S0000 0> |- - - - - - - - - - G0000 "0> - (1/3uw) 2 O QTN v
€5 €000 0> €000 0> £000 "0> - - - E - E - E - - €000 0> - (1/3uw) HENDO LW T LS ] e
o¥ |- - - ) ¥ ) H¥ ) H¥ ) ) ¥ ) H¥ ) Y| e
15 o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/)) B —| 15

9°0 S0 6°0 S0 S0 9°0 9°0 9°0 9°0 8°0 8°0 6°0 8°0 9°0 S0 (1/3w) B BN

6°91 6L 9760 T°01 6°L 16 T°¢l 89T [ 6°7¢ 9°5g [ 0°61 T°LT [ (D.) WY

1°L1 0°G 0°0€ €6 88 0°G L9 [ G61 99z 0°0¢ 0°0¢ 6°1¢ 1€l 0°0g [} s

- - - & H iy H iy & iy iy H iy B iy A

- - - 07:6 07:6 07:6 05:6 0£:6 05:6 07:6 Sl:6 01:01 Sl:6 07:6 01:6 5N

Gk N X3y HIHE H9H?T HOTHT EHEE HYTHTT HITHOT HZTH6 H8HS HITHL HETH9 HITHS HITHY EERZE

BOKPHESC  ENEE SRS

196



165 [1°0> 10> 170> 10> 170> 10> 170> 10> 170> 170> 170> 10> 1°0> 10> 1°0> (F) | 1e5r
055 | 1> B D B D B D B D > D 5 D > D Gi) 5| 05
6V |- - - NG NI NG ez 5 NG NI NG NG NI NG NI NG O | 6V
8V |- - - 243 253 243 253 243 253 243 243 253 243 253 NG | 8V
LYY [29°L 1671 0L°L 9571 1571 ¥9°L 8G°L 0L°L 1672 €9°L 99°L 89°L 0L°L 29°L 8G°L HH | v
9V S0 €0 L0 [0 70 [0 70 G0 £°0 [0 70 [0 9°0 L0 L0 (1/8w) (@ (OOL) ¥MMMHL) s s |ovsy
S |S000 0> 5000 0> G000 0> - - - - - - - - - - G000 0> - (1/8uw) WA — [ T L |s15F
¥Pf |200 0> 200 0> 200 0> - - - - - - - - - - 200 0> - (1/3w) IR AT A e S [V F
eV | 1> D) 3 I3 2 D) > D) D » D I3 D 3 > (1/8u) A — LA LA 4T ehE
ohE | > D) > D) > D) > D) D B D D) D B > (1/8u) AT YT LT
17 |20 0> 20 0> 20 °0> - - - - - - - - - - 20 0> - (1/3w) IR g A e S5 | v
oviy |€eT L0T 528 €1 121 €1 [543 821 43 44 L€T 71 L01 11 L01 (1/3w) i EE X635 | 0V
665 |0 €S 1°6¥ €769 €65 28 8799 G6g AT 1709 0°€S 1729 8799 1°¢v 09 1°9¥ (1/80)  GIMl) &7 4 A%s > T LAE|6ESE
8ey [€ ¥1 [ L7L1 G LI €°L1 6°¢l 171 g€l [ 1°¢l 1°¢l LU L7721 A 07T (1/3w) AN S A By [ sesr
LESF [100 "0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> 100 0> (1/3uw) GG AV D LW AL~ 2| Le5E
9ey [1°11 111 11 - - - E - E - E - - 111 - (1/3uw) HEWDX0WT 4 (] £]9e5
Se¥f |10 70> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 20 QW M| seFf
vesy |10 0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10°0> 10 0> 10 °0> (1/3uw) AV 0 L0 HE | vedt
€€f |90 0 70°0 L0°0 - 70°0 - - L0°0 - - L0°0 - - G0 0 - (1/3uw) SN DX O0WT =3 L]eeSy
2€5f |10 0> 10 0> 10 0> - - - - - - - - - - 10 0> - (1/3uw) 2y 0 O3 g ey
165¢ [€00 0 200 0 700 °0 - 200 °0 - E €00 0 - - 700 "0 - - €000 - (1/3w) A AL L ack|esy
0£5F (8000 0 £000 "0 €100 °0 - €100 °0 - E 0100 "0 - - 8000 0 - - €000 "0 - (1/3w) TANE RO L|0g
62 [1200 0 0£00 "0 7600 "0 - 0£00 "0 - E GL00 "0 E - 6800 "0 - - 7600 0 - (1/3w) A K ¥ 004 A0 L1685
825 |S00 "0 100 0> 600 "0 - 100 0> - E 700 °0 E - 800 "0 - - 600 "0 - (1/3w) o o 4 (1 [sedr
L2 |€20 0 €010 °0 0£0 "0 - €010 °0 - E 8120 "0 E - 0£0 "0 - - 820 0 - (1/3w) A& Lo (i B Lo
92%f |100 0> 100 0> 100 0> - 100 0> - - 100 0> - - 100 0> - - 100 0> - (1/3uw) |95
e 3500 0 G700 "0 1900 "0 - 9700 "0 - E 1900 "0 - - 7500 0 - - G700 0 - (1/8uw) A& 400 4x0 L4
V2 100 0> 100 0> 200 °0 - 100 °0 - E 100 0> E - 200 °0 - - 100 0> - (1/3w) WM o o 4 2 vesr
€25 |7600 0 7100 0 S10°0 - 7100 "0 - E 2L00 0 - - G100 - - $10°0 - (1/3w) Ak T T 4 |egs
22 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/8uw) WH o o 4 |2
125 |L0°0 90 0> 210 - 90 °0> - E 60 0 E - 210 - - 80 "0 - (1/3uw) P HT| 105¢
025 {1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) N [T
615 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Toog iy |61%
815 |1000 0> 1000 "0> 1000 0> - - - - - - - - - - 1000 0> - (1/8uw) AAL£Ton gLy L[
LI5F |1000 0> 1000 "0> 1000 0> - - - E - E - E - - 1000 0> - (1/3w) A& oo gL
. . . . AALTOR 4L T-L AL

915 {3000 0> 2000 0> 2000 0> - - - - - - - - - - 2000 "0> - (1/8uw) b%w;$Hu,u a,,\,,\N.TKw,, 915
SI5F (00 0> G00 0> S00 0> - - - - - - - - - - G500 0> - (1/8uw) AR EATT|s15F
vI5F [1000 0> 1000 0> 1000 0> - - - - - - - - - - 1000 0> - (1/3uw) S AV B [ V15
€157 [S0 0 G0°0 S0°0 - - - - - - - - - - G0 0 - (11/8w) G2y O QW H Lz | e15F
21y [L0°0 L0°0 L0°0 - - - - - - - - - - L0°0 - (11/8w) G2 A0 OWE < L2115
T |92 1 721 Ve 1 - - - - - E - E - - 721 - (1/3uw) S B QUM R0 3 52 SR | 1y
015 100 0> 100 0> 100 0> - 100 0> - E 100 0> - - 100 0> - - 100 0> - (1/89) A LANVEROW A S GV~ L4015
65 |700 0> 700 0> 700 0> - - - - - - - - - - 700 0> - (1/3uw) SRR G| 657
8¢ [100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GHEAT o 2 W | 85
L¥f |100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) GG AV D 20HWH A L3¢
9% 100 0> 100 0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G20 0| 9%
S¥ |100 0> 100 "0> 100 0> - - - - - - - - - - 100 0> - (1/3uw) G2 A DX 0W A1 2| 5%
¥¥ [S0000 0> [S0000 0>  [S0000 0> |- - - - - - - - - - G0000 "0> - (1/3uw) 2 O QTN v
€5 €000 0> €000 0> £000 "0> - - - E - E - E - - €000 0> - (1/3uw) HENDO LW T LS ] e
o¥ |- - - ) ¥ ) H¥ ) H¥ ) ) ¥ ) H¥ ) Y| e
15 o 0 0 0 0 0 0 0 0 0 0 0 0 0 (Tu/)) B —| 15

70 €0 S0 70 70 S0 S0 70 S0 S0 70 S0 S0 V0 (1/3w) B BN

8°L1 G'6 7790 011 G6 9701 Vel 9°L1 PR3 [ V98 5% 661 P (D.) WY

681 8°9 076 66 8°6 8°9 9°6 0°LT P44 08¢ 0°¢€€ 6°1¢ L°0g [ [} s

- - - & H iy H iy & iy iy H iy iy A

- - - 07:01 02:01 07:01 0£:01 07:01 Sr:01 §P:01 05:01 L8111 07:01 00:11 07:0T 5N

Gk N X3y HIHE H9H?T HOTHT EHEE HYTHTT HITHOT HZTH6 H8HS HITHL HETH9 HITHS HITHY EERZE

BOLPHEY  ENE SRS

197



(3) TEE K



O  FKRGAE

TEEN ARG TIEEN 2 AR L U, AR EIT 2B BUK LT g,

Rk 41 AICkAKERIBE L, BIFE, 1 HIZHAKLTWa,
STAMEED 1 BHIEFKEIT 18,162 M CTh o7,

T
< FEE >
B ok iE
KR TEE )
BAKR T 1 H e RAakE 24, 000 w’
&5 7K JI:
WOk XK i
ik Jig L
KR K BATAHE H SERRAAEL A
i A im
KLRTEMEER A i
G 7K Hh
Ak,
<WFR7a—>

198




8¢ |- - - - - - - - - - - - - - - ('Tw/[gl)) WEHCHRE 5 F 8¢
LE |- - - - - - - - - - - - - - - TE S E|Le
9¢ |- - - - - - - - - - - - - - - (Tu/l5)) R
ge | 4 9 14 ¢ 14 4 4 9 g ) 14 € 14 € ('1/3u) AT LETL|SE
ve g 1> 9¢ ! 14 14 > ! ! 9¢ 9 S 4 14 14 ('1/8u) Al =LA LA £ =T TE
€€ 1005672 00v¢e 00018 0006¢€ 00€Ve 00961 000L2 00¢61 00€TI 0081 008a1 00018 0003L 0000€ 00ve (Tu/[5)) FE 3L E T €C
¢¢ 100€S 022 00097 00¥VT 00TT 096 00¥%T 02¢ 002¢ 00TT 00¥¥ 0009% 00¥3 099 00v1 (Tu/[5)) EE I 3l — | €
Ie |08% 6V 003 0€e 6V 0€e 06V 0rs 0LT 0€e 06V 00¥3 0L 0L 06V ("TWOOT /NdIN) HEEN|Te
0€ |6 g S1 L g g 9 9 8 ¢l cl ST TT1 6 8 () Fg|oe
6% (1/8 1) BAV L0010 4|63
82 |€0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> €0 0> ('1/3w) [ 2R mE 2 e ) 28T
L2 |T°6 29 [ €6 [l €¢I €6 88 78 8L %9 9°L 0°8 VL G°0T (1/8w) SERL) P LT
9¢ (091 8¢l 9L1 0L 91 91 91 G91 9LIT 861 691 8¢1 96T 91 Riat (wo/sm) s E 9T
§2 €0 0> €0 0> S0 °0 ¥0°0 €0 0> S0 °0 €0°0 €0 0> €0 0> €0 0> 70 °0 €0°0 €0 0> €0°0 €0°0 (1/8w) A LA A E) G
Y2 |70 °0 €0 0> g1 0 S0 °0 €0°0 S0 °0 70 °0 €0 0> €0 0> €0 0> S0°0 90 °0 g1 0 €0°0 70 °0 (1/8w) GG A2 AL, A 2|VT
€2 |10 80 0 360 1T°0 60 "0 0T 0 c1 0 0T 0 80 0 LT°0 810 02 °0 30 91 °0 60 0 (1/8w) g9 ee
s VS0 V20 0¢°l €9°0 ¥¢ 0 ¥¢ 0 SV 0 ¥¢ 0 Le 0 L0 G660 061 €6 °0 89 °0 050 ('1/3w) AV 0 20 W¥E| T
12 |18 89 S8y 699 699 6 "8G €°¢9 899 L°LS 0°99 G €9 G179 G '8V 6 '99 999 9°1g (1/8w) () &7 asks s T LsK|13
02 [8TT 0°L8 IVT 0°.8 068 10T 611 LTT cel 96T Gel 18748 cel 8T1 801 (1/3w) h B2 X4 365 | 02
61 |6 1 LG 6 4 1 8 4 9 GI 8 LG 8 i 44 ('1/3w) B I A 61
81 (2T S0> €C 91 9°1 9°0 G 0> 0°T 6°0 ¢l L0 €'C g1 T°T LT (1/3w) aodist
LT 102 T°T 3¢ LT 7! 9°1 T 9°1 81 1°¢ LT 8T (4R 0°¢ 0°¢ (1/3w) AOOFHHLT
91 [8°C LT 8TV Vc LT LT 81 6°1 ¢'C ¢'¢ Ve ¢9 9°¢ 0V 0°¢ (1/3w) ao o9t
a1 |- - - - - - - - - - - - - - - (1/8w) OO LId#| st
VI LT 01 Ve 7! 01 'l T 0°T ¢l 8T €'C Ve ¢'C 0°¢ vl (T/3W)  (F@ (OOL) ¥WWMHT) G |V]
€l [6°G 6°C L°Cl ST 6°C 0°¢ 0V 0°¢ 16 GL 9°L L2l 9°L 8L g (T/8W)  (WHET & (0 FWALA2TO BGHY|CT
gl |81 it 12 ST ST 12 12 61 12 0% LT GI ST G1 i ('1/3w) Wl VoS |eT
IT |19 1°g 6°L Y9 09 (] 6°G LG Vg 16 6°L 9°¢ T°L g9 09 (1/3w) A VA B 1T
0T {200 10 °0> 60 "0 €00 600 600 €0 °0 10 °0> 10 °0> 10 °0> 10 °0> 60 0 G0 0 90 0 10 °0> (1/3w) A (|01
6 |7S°0 10 °0> 26 °0 L0 00 G660 18°0 8L°0 050 300 10 °0> 99 0 €8°0 780 Ge 0 ('1/8w) SESZEHAIGN| 6
8 1600 0 900 "0 910 "0 110 °0 0700 910 "0 800 "0 100 °0 900 "0 900 "0 100 °0 600 "0 L0070 600 "0 Y10 °0 ('1/8w) SERZ UM | 8
L 150 0> 20 0> 80 0 800 00> ¥0 "0 00> 0 0> 00> 00> €0 °0 €0 °0 300> 0 °0 200> ('1/8w) YT L= L] L
9 (71/3w) EEW 9
G |1€°9h §LE 9°19 SLY 0 6% 1Ly 0°Ly 8 8% 0 8% G 6V 9°19 ¥ '8¢ Sy ¢ LE 6°LE ('1/8w) F 0 LHE S
¥ 1699°L SV L Y6 "L GG L 19°L G9 "L 89 "L 9L 19°L Y6 "L 06 "L S °L 96 "L SV L 8G "L HHd| 7
€97 T°T ST (47 7! g1 8¢ T e ¥ g (47 GI 6°¢ ¢9 €9 () HE €
¢ |V Pl 6°1 S92 g9 6°1 L°C G0l T°TT 6l 6 ¢ G 9% 8°¢% LLT 88T 9°01 (2) B T
T [€¢l [ 9°1¢ gcl [ 1°¢ 0°'8 1°¢1 8°¢0¢ 8 V¢ 9°1¢ ¢ '49¢ 9761 ¥ Gl 0°01 (D) Wl T

- - 03:6 0r:6 G%:6 GC:6 G¥v:8 ov:8 Gv:8 Gv:8 06:8 Gv:8 GG:6 Gv:8 G Nk

- - - y Y 4 E I i g i £ £ g Y

g [ Y3 HIHE HIH?C HYHT | HYHZT [ HLHTT | HEHOT | HSH6 HTHS HYHL H9H9 H6HS HYHV H B4

AN A CONXE (2R G (22
NN L
HWHEHENO

199



A JLPELIEFE

biEREDIIRE /S~ BV RN
JFIK A 4 5 6 7 8 9 10 11 12 1 2 3 AR
KA| 18.5| 19.8] 26.0| 26.9| 27.5| 24.2| 21.0] 15.8] 13.9 8.5 8.9| 15.5| 27.5
KR (C) B/ 8.9| 13.5| 17.5| 22.9| 22.1| 19.1| 12.0| 10.2 4.0 1.5 2.9 6.9 1.5
Sy | 18,7 17.0| 20.5| 24.7| 25.0] 22.0| 16.6| 12.4 7.2 4.7 5.8 10.9| 15.0
ek 54 110 15 17 9.4 130 19 40 52 9.6 25 17 130
tiali s (1% B/ 2.9 4.4 3.9 2.6 3.3 3.7 1.8 1.5 1.6 1.2 2.1 3.6 1.2
Sty 12 14 6.5 5.5 5.5 13 4.3 5.0 6.1 2.7 4.7 7.7 7.2
&AR| 7.37| 7.29| 7.36| 7.35| 7.42| 7.50| 7.54| 7.55| 7.59| 7.52| 7.48| 7.46| 7.59
p HAE BN 70121 7,07 7.22| 7.08] 7.26| 6.92| 7.22| 7.30| 7.36| 7.31| 7.25| 7.07| 6.92
SEry | 7.25| 7.23| 7.30| 7.29| 7.36| 7.34| 7.47| 7.50| 7.51| 7.46| 7.41| 7.37| 7.37
ek 22 16 13 15 14 26 20 18 13 9 12 15 26
o (g E52N 7 10 10 11 11 9 6 6 6 6 6 7 6
Sty 10 12 12 12 13 12 8 8 7 6 7 9 10
i ) &A| 197 30.0| 11.6| 13.3| 10.3| 43.3| 15.2| 18.1| 19.1 8.6| 15.2| 14.8| 43.3
g%ﬁ?%:ﬁ;%?/ (mg/L) B2 N 3.9 6.0 6.2 5.2 5.7 2.3 3.4 2.9 2.7 2.6 2.9 4.6 2.3
Sty 7.5 8.6 7.6 7.0 6.9 9.7 5.2 4.6 4.8 3.5 4.4 7.0 6.4
) IS FN 1.7 2.1 2.2 2.2 2.4 2.3 1.4 1.6 1.7 1.2 1.4 1.8 2.4
ﬁ%ﬁé?ﬁg?* (mg/L) B/l 1.3 1.7 1.9 1.9 1.8 1.4 1.1 0.9 1.0 0.9 1.1 1.5 0.9
RiS5) 1.5 1.8 2.1 2.0 2.1 1.8 1.3 1.2 1.2 1.1 1.3 1.6 1.6
IS FN 9.9 9.1 9.7|  10.2 8.8 7.1 6.2 6.7 6.4 8.0/ 15.3] 10.7| 15.3
Ak A A (mg/L) /)N 3.4 2.7 5.6 6.2 5.2 2.1 4.0 4.5 4.4 3.8 5.1 4.9 2.1
Sty 6.5 6.8 7.6 8.2 6.6 5.4 5.6 5.8 5.7 5.8 6.8 6.7 6.5
o IS FN 2 8 3 2 4 23 2 1 2 6 2 2 23
i:ii’wmﬁ’m\ g/l | B < 1 1 2 1 a < a < a < 1 <
Sty 1 3 2 2 2 8 <1 <1 1 2 1 2 2
IS FN 4 7 4 12 11 10 8 5 4 4 4 4 12
DES N (ng/L) B/ 2 2 3 5 8 6 5 2 2 2 4 3 2
Sty 3 3 4 7 9 8 6 3 3 3 4 4 5
BAR | 42.6| 41.6| 49.8| 53.4| 57.8| 52.4| 50.6| 51.8] 49.7| 48.5| 49.3| 50.6| 57.8
BTk g (mg/L) BN 2406 231 32.01 34.3] 42.3] 21.0| 33.3] 31.4| 31.0] 42.1| 32.7| 31.9] 21.0
SEHy | 36.0| 35.6| 42.5| 48.3| 52.3| 45.4| 47.6| 48.3| 46.2| 46.5| 46.4| 45.1| 45.0
IS FN 15 13 21 8 14 11 6 10 10 4 8 11 21
FUEE (mg/L) E52N 6 8 8 5 7 9 3 3 2 1 4 6 1
Sty 11 10 11 7 9 10 5 6 5 2 6 8 8
ek 4.6 4.0 4.9 3.5 4.6 4.4 2.7 2.5 2.9 2.0 2.4 3.6 4.9
COD (mg/L) B/ 2.2 3.2 3.2 3.2 3.0 2.9 2.1 1.8 1.6 1.7 2.0 2.5 1.6
Sty 3.1 3.4 3.8 3.3 3.6 3.4 2.3 2.1 2.0 1.8 2.2 3.0 2.8
ek 165 166 168 170 197 173 176 181 192 175 182 202 202
AR (uS/em) | fx/h 108 98 119 124 134 71 120 130 121 152 163 143 71
Sty 143 144 151 159 162 154 163 164 167 165 172 176 160

TEE)EKS  IRAK
TRFIK H 4 5 6 7 8 9 10 11 12 1 2 3 S|
KA 18.7| 19.8] 26.0/ 27.0] 27.8] 24.2| 20.8] 15.4] 13.9 8.3 8.8/ 15.3| 27.8
KR (C) B/ 9.0| 13.5| 17.4| 22.9| 22.2| 19.5| 12.0| 10.3 4.6 1.7 3.1 7.2 1.7
Sy | 13.8|  17.2|  20.5| 24.8| 25.2| 22,1 16.7| 12.5 7.4 4.8 5.9 11.0] 15.2
&AK| 7.200 7.200 7.31| 7.37| 7.35| 7.36| 7.31| 7.33| 7.31| 7.32| 7.30] 7.28] 7.37
p HAE /N 6.76| 6.76| 7.06| 6.90| 7.13| 6.85| 6.94| 6.87| 6.92| 7.10| 6.88| 6.94| 6.76
SEry | 7.07| 7.07| 7.19) 7.18|  7.23| 7.14| 7.23| 7.25| 7.22| 7.22| 7.200 7.16] 7.18
ek 171 175 177 181 205 181 182 185 195 179 191 208 208
ARG (uS/em) | fx/h 122 124 135 138 144 112 134 146 135 165 171 154 112
Ris5) 152 154 160 169 172 165 171 171 174 173 180 185 169
IS FN 1.7 1.9 1.9 2.0 1.6 3.2 1.3 1.3 1.9 1.3 1.5 1.5 3.2
TR TR (mg/L) E52UN 0.9 0.9 1.1 1.1 1.1 1.0 0.8 0.8 0.7 0.6 0.7 0.7 0.6
Sty 1.0 1.1 1.3 1.4 1.4 1.4 1.0 0.9 0.9 0.8 0.8 0.9 1.1
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RS Bk AR

N S%UN A 4 5 6 7 8 9 10 11 12 1 2 3 AR
5o 18.7) 20.0f 26.9| 27.5| 28.1| 24.4] 21.6| 15.6| 14.5 8.6 9.0 15.5 28.1
KR (©) B/ 10.1 13.9 17.6f 23.0f 22.5] 20.0{ 13.1 11.0 5.0 2.3 3.9 8.2 2.3
a5 14.3| 17.4| 20.8| 25.1{ 25.4| 22.5| 17.3] 13.0 7.9 5.4 6.5 11.6/ 15.6
R 0.4 0.3 0.3 0.2 0.2 0.2 0.4 0.2 0.3 0.3 0.4 0.4 0.4
TR (% e 0.1 0.2 0.1] <0.1 0.1] <0.1 0.1 0.1 0.1 0.2 0.2 0.2| <0.1
a5 0.2 0.2 0.2 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.3 0.3 0.2

R 7.29| 7.27| 7.37) 7.35| 7.41| 7.38| 7.39| 7.41| 7.35| 7.38] 7.36| 7.34| 7.41

p HA# B/AN| 6.84 6.80] 7.09| 6.91| 7.18| 6.84| 6.94| 6.92| 6.94| 7.12| 6.89] 6.99] 6.80
SEry | 7.13| 7.13| 7.25| 7.23| 7.28] 7.19| 7.29| 7.31| 7.26| 7.27| 7.23| 7.21] 7.23
i ) ek 2.5 3.0 3.5 4.4 4.3 5.8 3.5 2.8 3.2 2.4 2.9 3.8 5.8
g%ﬁ?%:ﬁ;%?/ (mg/L) B2 N 1.4 1.7 2.5 2.4 2.5 1.9 1.4 1.3 1.3 1.2 1.3 1.5 1.2
) 1.9 2.5 2.9 2.9 3.1 2.9 1.9 1.7 1.7 1.5 1.6 2.2 2.2
) IS FN 1.1 1.4 1.7 1.6 1.9 1.6 1.0 1.2 1.1 0.9 0.9 1.3 1.9
ﬁ%ﬁé?ﬁg?* (mg/L) B2 N 0.8 1.2 1.2 1.4 1.4 0.9 0.8 0.6 0.7 0.7 0.8 1.0 0.6
) 1.0 1.3 1.4 1.5 1.6 1.3 0.9 0.9 0.8 0.8 0.8 1.1 1.1
BA| 39.0| 37.7| 46.0| 48.5| 52.8| 47.4| 46.4| 46.8| 44.7| 43.8| 44.6| 47.4| 52.8
BTk g (mg/L) AN 1901 192 28.3| 27.4 36.9] 19.6| 24.3| 22.4] 24.0] 38.4| 24.8] 26.3] 19.1
SEry | 31.3| 30.8| 38.3| 43.1| 46.7| 39.5| 42.5| 43.3| 40.7| 41.4| 41.0] 39.8] 39.9
IS FN 1.1 1.1 1.3 1.1 1.1 1.1 1.0 1.0 1.0 0.9 1.0 1.0 1.3
TR TR (mg/L) E52N 0.5 0.5 0.5 0.5 0.6 0.6 0.5 0.5 0.5 0.5 0.4 0.4 0.4
) 0.6 0.6 0.7 0.8 0.8 0.7 0.6 0.6 0.6 0.6 0.6 0.6 0.6

TEE)IEAKS 1 AIEK
b A iEK A 4 5 6 7 8 9 10 11 12 1 2 3 AR
KA | 18.8| 20.4| 27.5| 28.2| 28.8| 24.5| 21.5| 15.6| 14.6 8.6 4| 15.8| 28.8
KR (C) BN 1004 1401 17.5) 23.00 22.7| 20.0| 13.2] 11.2 5.0 2.9 4.2 8.7 2.9
Ery | 14.6|  17.8| 21.2| 25.5| 25.7| 22.5| 17.3| 13.2 8.0 5.6 6.8/ 12.0| 15.8
BAR| <01 <o.1| <o.1| <o.1| <o.1| <0.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
tiali s (s BN <001 <01 <o.1| <o.1| <o.1| <0.1 <0.1 <0.1| <0.1] <0.1| <0.1| <0.1| <0.1
SEHy | <0.1| <0.1|  <0.1| <o.1|  <0.1| <0.1| <0.1| <o.1| <o.1| <o.1| <o.1| <o.1| <0.1
&AK| 7.35| 7.30| 7.45| 7.43| 7.50| 7.41| 7.46| 7.48| 7.36| 7.37| 7.35| 7.35| 7.50
p HA# /AN 6.93] 6.89 7.15| 6.94| 7.18| 6.90| 7.02| 7.02| 6.94| 7.14| 6.97| 7.00| 6.89
SEry | 7019 7019 7.32| 7.27| 7.33| 7.26| 7.34| 7.37| 7.29| 7.29| 7.24| 7.24] 7.28
i ) IS FN 2.3 2.9 3.3 4.4 4.0 5.1 3.3 2.6 2.8 2.2 2.5 3.5 5.1
g%ﬁ?%:ﬁ;%?/ (mg/L) B/ 1.4 1.6 2.4 2.2 2.3 1.8 1.3 1.2 1.3 1.1 1.2 1.3 1.1
) 1.8 2.3 2.7 2.8 3.0 2.8 1.8 1.6 1.6 1.4 1.5 2.0 2.1
) ek 1.1 1.5 1.7 1.6 1.8 1.6 1.0 1.1 1.2 0.8 0.9 1.3 1.8
ﬁ%ﬁé?ﬁg?* (mg/L) B/ 0.8 1.2 1.2 1.4 1.4 0.9 0.8 0.6 0.7 0.6 0.7 1.0 0.6
) 1.0 1.3 1.4 1.5 1.6 1.3 0.9 0.8 0.8 0.7 0.8 1.1 1.1
o IS FN 2 6 2 2 4 31 1 <1 <1 <1 1 2 31
22:?:?;’” IEVE gy | o <1 1 1 2 of  «al  «al al oal oal oal oal o«
bS] <1 3 2 2 3 10 <1 <1 <1 <1 <1 <1 2
ek 3 4 4 8 10 7 8 3 2 3 4 4 10
DES N (ng/L) ES2N 3 2 3 4 5 4 3 2 <1 1 3 3 <1
) 3 3 3 5 7 6 5 2 2 2 4 4 4
ek 0.7 0.6 0.6 0.8 0.5 0.6 0.6 0.6 0.6 0.6 0.7 0.7 0.8
TR TR (mg/L) E52N 0.4 0.3 0.4 0.3 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.3
) 0.5 0.4 0.5 0.5 0.4 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
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RIS S R VAL A FNAAE
RLIRTEPE R ALER K A 4 5 6 7 8 9 10 11 12 1 2 3 A
W] 19.00 211 27.0| 28.8] 29.1| 25.1| 22.6| 16.2| 15.6| 10.0| 10.5| 16.8] 29.1
KR (C) /| 110 14.6| 17.5| 23.8| 23.8] 21.0| 15.0| 12.8 6.5 5.2 5.8/ 10.0 5.2
Sy | 1501 18.4| 21.7| 26.0] 26.4| 23.4| 18.5| 14.4 9.2 7.4 8.1 13.1| 16.8
| <01 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
il (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 <0.1]  <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Wl 7.24) 7.11| 7.18| 7.20| 7.33| 7.35| 7.41| 7.38| 7.34| 7.32| 7.29| 7.80| 7.80
p HfE /| 6.83] 6.83] 6.95 6.95 7.11| 6.91| 7.11| 7.08| 7.08| 7.12| 7.07| 7.01| 6.83
Sy | 7.05 6.99|  7.07|  7.11| 7.19| 7.15| 7.24| 7.28| 7.21| 7.21| 7.18] 7.15| 7.15
e g BR 0.9 1.4 1.6 1.7 1.4 1.4 1.1 0.8 1.3 0.9 0.9 1.4 1.7
gﬁé?f;ﬁ%éﬁ/ meg/L) | & o5 0.6 09 o8 o8 o7 o5 05 06 o6 o5 06 05
F-H) 0.7 1.0 1.2 1.2 1.1 1.0 0.8 0.7 0.7 0.7 0.7 0.9 0.9
b (AR BR 0.6 0.8 0.9 0.9 0.8 0.7 0.6 0.4 0.5 0.4 0.4 0.8 0.9
(TOC) i) (mg/L) e/ 0.5 0.6 0.5 0.6 0.6 0.4 0.4 0.3 0.3 0.3 0.3 0.6 0.3
FH) 0.5 0.7 0.7 0.8 0.7 0.6 0.5 0.4 0.4 0.4 0.4 0.7 0.6
L BR <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
Zjlii’wy*’w‘ (ng/L) 2 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
FH) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
BR <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
TxAAI v (ng/L) e/ <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
F-H) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1

MBS K
PN A 4 5 6 7 8 9 10 11 12 1 2 3 AR
| 197 21.4| 27.5| 29.0] 29.3| 25.0| 22.1| 16.0| 15.5 8.7 10.1| 16.3] 29.3
KR (C) /AN 11| 15,0 17.5| 23.1| 23.3] 211 14.7| 12.8 6.5 4.4 5.4 9.8 4.4
Sy | 15.5|  18.6| 21.8| 26.1| 26.4| 23.2| 18.2| 14.1 9.0 6.4 7.7 12.6] 16.6
R | <01 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
L (%) e/ <001 <o.1| <0.1| <0.1| <0.1] <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Sy | <0.1| <001 0.1 <0.1f <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1| <0.1
Wl 7.33| 7.14| 7.23| 7.21| 7.30] 7.33| 7.41| 7.41| 7.34| 7.35| 7.34| 7.24 7.41
p HfE /AN 6.87| 6.88] 6.97| 6.99| 7.09| 6.97| 7.12| 7.10| 7.11| 7.16| 7.11| 7.04| 6.87
Sy | o7.100 701 7.11| 7.13) 7.21| 7.19| 7.26| 7.32| 7.24| 7.24| 7.20| 7.15| 7.18
BR 0 0 0 0 0 0 0 0 0 0 0 0 0
i (%) 2 0 0 0 0 0 0 0 0 0 0 0 0 0
F-H) 0 0 0 0 0 0 0 0 0 0 0 0 0
e s e BR 0.8 0.9 1.2 1.2 1.3 1.3 0.9 0.8 0.9 0.8 0.7 0.9 1.3
gﬁé?f;ﬁ%éﬁ/ me/L) | | <o.5| <o.5] 0.7 0.8 o8 o7 0.5 05 05 <0.5 <05 <0.5 <05
S| <0.5 0.7 0.9 1.0 1.1 1.0 0.8 0.6 0.7 0.6 .6 0.6 0.7
b (AR BR 0.5 0.7 0.8 0.8 0.9 0.8 0.6 0.5 0.5 0.4 .4 0.6 0.9
(TOC)}*@%?*“ (mg/L) 2 0.4 0.5 0.5 0.6 0.8 0.5 0.5 0.3 0.3 0.3 .3 0.4 0.3
F-H) 0.4 0.6 0.7 0.7 0.8 0.7 0.5 0.4 0.4 0.3 .4 0.5 0.5
k| 1658 16.3| 15.3| 16.0| 14.7| 14.3| 13.4| 13.0| 15.0| 14.9| 18.5| 22.2| 22.2
w1 A (mg/L) /N 1001 10.6 10.5| 13.0| 11.3 9.5 9.4 8.9| 10.8] 10.2| 10.2| 10.3 8.9
ey |oo12.3 12,7 13.2| 14.2| 12.6| 11.4| 10.7| 11.0| 11.9| 11.9| 13.1| 13.0| 12.3
BR B U | BERL | RERL | BEARL | RERL | BEAL | RERL | BEARL | RERL| BEARL | BERL| BEAL | BERL
BR 1 1 1 1 1 1 1 1 1 1 1 1 1
RBEME (TON) 2 1 1 1 1 1 1 1 1 1 1 1 1 1
F-H) 1 1 1 1 1 1 1 1 1 1 1 1 1
IS RERU | RERL | B | BEALU | RERL | BERL | BEALL | REARL | RERL | BEAQL | RERL| RERL | BERL
.. LN <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
Zjlii’wy*’w‘ (ng/L) 2 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
F-H) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
BR <1 <1 <1 2 <1 <1 <1 <1 <1 <1 <1 <1 2
TxAAI (ng/L) s <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
FH) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
BR 0.7 0.8 0.8 1.0 1.0 1.0 0.8 0.7 0.6 0.6 0.5 0.6 1.0
PR (mg/L) e 0.5 0.7 0.7 0.8 0.8 0.8 0.6 0.6 0.5 0.4 0.4 0.4 0.4
FH) 0.6 0.7 0.8 0.9 1.0 0.9 0.7 0.6 0.6 0.5 0.5 0.5 0.7
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8 |xFoh—zAb 7Y AN (mg/L) - - - - - - -
W9 |xFvryT 73y U RS (EDTA) (mg/L) 0. 005 <0. 005 - 0. 006 <0. 005 - -
Mmool Zwvenme RY v (mg/L) - - - - - - -
1|k e =1 (mg/L) - - - - - - -
12| Wefs © =L (mg/L) - - - - - - -
13]2,4— Lo o7 I (mg/L) - - - - - - -
Hi14|2,6— ML T I (mg/L) - - - - - - -
WMIS[N, N=Y A F LT =1 (mg/L) - - - - - - -
Wle| AF L (mg/L) - - - - - - -
W17 # A A% U3 BN FR
W[ hY=F LT FT I (mg/L) - - - - - - -
19|/ =7 =) —L (mg/L) - - - - - - -
20|27 = ) — /LA (mg/L) - - - - - - -
2l R (mg/L) - - - - _ _ _
o2, 2— 72 vy (mg/L) - - - - - - -
W23, 3 -7 x vz (mg/L) - - - - - - -
24| 7 ZVEEY (n-7 %) (mg/L) - - - - - - -
25| 7 X NET F R DL (mg/L) - - - - - - -
26[I 7 m¥FAF L — LR (mg/L) BN Lk
27| ay (mg/L) - - - _ _ _ -
#os| 7w E s v R (mg/L) - - - - - - -
29| 7 mE s 1o g (mg/L) - - 0.003 - - <0. 003 <0. 003
30| 7 mE s v n g (mg/L) - - - - - - -
31| 7 v EEEEE (mg/L) - - - - - - -
32|V 7 o (mg/L) - - <0. 003 - - <0. 003 <0. 003
33| MY 7 1 EEEEE (mg/L) - - - - - - -
R RN A=E= N N2 (mg/L) - - - - - - -
W35|7nEsun T h=hU L (mg/L) - - - - - - -
36| 7 mETE b= UL (mg/L) - - <0. 001 - - <0. 001 <0. 001
w377 T AT R (mg/L) - - - - - - -
Hi38|MX (mg/L) - - - - - - -
Bao[F Lo (mg/L) - - - - - - -
AL | SR (mg/L) <0. 0005 <0. 0005 - <0. 0005 <0. 0005 - -
Hd4|N-= k1 Y P AF LT 2 (NDMA) (mg/L) - - - - - - -
457 =1~ (mg/L) - - - - - - -
a6l U v (mg/L) <0. 00001 <0. 00001 - <0.00001| <0.00001 - -
B47(1,2,3-hY 7By (mg/L) - - - - - - -
48| = kU v =HEEE (NTA) (mg/L) - - - - - - -
FRA9 |~ L 7 A e 4 v A LR U (PFHXS) (mg/L)| <0.000001| <0.000001 -| <0.000001| <0.000001 - -
(R17) A A HEOMALE R BRI : pg-TEQ/L
R4 2E - A5 -
KK K KK K
NEIEY/S 0. 40 0.0015 -
i RENIRG /7 0.14 0. 00053 - -
(f26) I Z7 X AF—LR B mg/L
Bk KK 7B )RS
A KEBUKYS | AP | IEE)NEOKSS | 878 ) 1K
KA H TH4H TH4H 8H1H 8H1H
FRKIEZ] 9:50 9:00 8:45 9:00
PN i i i i
AU (C) 27.8 26. 1 31.6 31.7
St (‘C) 26. 2 27.6 26. 5 28.2
2/BFAF—LR <0.000004| <0.000004| <0.000004| <0.000004
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